Bis 1ist [Eq1 »rz [L1_, Q1_, P1_], Egz .2 [L2_, Q2_, P2_]] :=
]E(d1UComp1ement[d2,is])—»(rZUComplement[rl,is]) ee Bis []E [Ll.v Ql.v Pl] » E [LZ, QZ: PZ] ]5
Ed1_»r1_ [L1_, Q1_, P1_] // Egz 5r2 [L2_, Q2_, P2_] :=
Brlﬂdz []Edl-wl [Ll.v Ql: Pl] > Edosr2 [LZ, QZ: P2] ]5
Eg1 1 [L1_, Q1_, P1_] =Eg 4,2 [L2_, Q2_, P2_] "~:=
(d1 =d2) A (r1=r2) A (E[L1, Q1, P1] =E[L2, Q2, P2]);
1Edl_-»rl_ [L1_, Ql_: P1_] Edz_-»rz_ [LZ_J QZ_.’ PZ_] Ni=
E (g1yd2)-(r1yr2) @@ (E[L1, Q1, P1] xE[L2, Q2, P2]);
IEdr_ [L_: Q_: P_]$k_ = Egr @@]E[L: Q: P]sks
E [&__1[i_] := {S}0I1D;



